H £ 0l & AF & S

Al A

M E2UE
Hu: YN c2ey £4
ool E2AIM EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E2uESh 37,905,624 45,501,498 AT,595,874
= 614,847
[ 1,876,000
Jl 192,862
< 2,749,488
= 32,472,427
e E2EA X4 7,949,915 12,894,053 A\4,944,138
= 427,867
= 238,935
= 7,283,113
S2AE 2,360,828 6,258,528 A3,897,700
SAHAEE S22 T ETAL 600,000 300,000 300,000
401 AIZHIZL S OHE 600,000 300,000 300,000
01 Al&H| 596,243 297,855 298,388
O gl A SREELTSAL 596,243
03 Al =2 THHI 3,757 2,145 1,612
O &l AEd T2 T HIA}
596,243,000& +0.63/100 3,757
== 84 E2HESA 300,000 250,000 50,000
401 Al HIZL 201 300,000 250,000 50,000
01 Al&H| 297,855 248,212 49,643
O S5 S2dYz SLIIA 297,855
03 A2 2 0HYI 2,145 1,788 357
O 35 E2dYUZT ELFSA
297,855,000& +0.72/100 2,145
EBHLB~-FA 2L SA 550,000 1,700,000 A1,150,000
401 AIEHIZ SR THYI 550,000 1,700,000 A1,150,000
01 Al&HI 550,000 1,693,901 21,143,901
O BUEH-F T2HESA 550,000
OIM Higd SR EZIAL 100,000 600,000 A500,000
401 Al HIZL 01| 100,000 600,000 A500,000
01 Al&H| 99,108 596,243 N497,135
O Ol Mgd S2EELE SA 99,108
03 AIZ2THYI 892 3,757 A2,865
O OIA Mgd C2EE A
99, 108,000& +0.9/100 892
AN BABIR TEEIFZAL 500,000 600,000 100,000
401 AIEHIZ SR HYI 500,000 600,000 100,000
01 Al&HI 496,425 596,243 299,818
O A MA~Bt= T2 T I ZA} 496,425
03 Al 20HHI 3,575 3,757 A182
O A M= T2 T YZA
496,425,000& 0.72/100 3,575
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M E2UE
Hu: YN c2ey £4
&l S2AI4 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= ¥ SHEZZ 0I=EX 100,000 100,000
401 Al HIZL 201 100,000 100,000
01 Al&HI 100,000 100,000
O =2k & s0HEEZ DI=2EX 24 100,000
o ¥ SOHEZZ 24 3,528 3,528
202 048l 3,528 3,528
01 2L AL 3,528 3,528
O E2AIEE SZ0
70,0002 «6ZH +12JH & +70/100 3,528
OlM &HETYE SEEISA 100,000 0 100,000
401 Al HIZL S 0HYI 100,000 100,000
01 Al&HI 100,000 100,000
O OlA &EAUZ SHLITAL 100,000
O =EH(2IE2055) S2E LT DA 100,000 0 100,000
401 Al HIZ 01| 100,000 100,000
01 Al&H| 100,000 100,000
O 0IM =E0IE8X =2 LAY 100,000
CRUS20F SHOtAIY = 2,300 0 2,300
203 =4l 2,300 2,300
03 A= PR FZ| 2,300 2,300
O T2uSE0F AIRFUHEFA 2,300
SOHIYI(EE) Y 5,000 5,000
405 AHAHE S 5,000 5,000
01 AL =S F=HI 5,000 5,000
O fodlg(es) 7 5,000
E2RXA 2el 5,589,087 6,632,175 A1,043,088
= 427,867
< 238,935
= 4,922,285
TER A2 ALY 2,133,352 1,988,180 145,202
= 25,000
= 2,108,352
201 Ler23 | 233,000 166,000 67,000
01 At2teltl 159,000 112,000 47,000
O M&&Hl gx= 147,000
CERE-AY U=
400,0002 14 5,600
O E22te| Ha2! o
8,000 x202 x241x20&H 6,400
02 s5=34l 74,000 54,000 20,000
O Xt2kdl (9CH) 74,000
202 048l 2,352 2,940 A\588
01 2L AL 2,352 2,940 A588
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SN E2RED
HE: YHE c28F T4
gel: E2RX 2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
O =zzalg &30/)
70,0002 42+ 12870/ 100 2,352
206 TH2 6| 140,000 140,000
o1 HEH| 140,000 40,000
O E2248 I 140,000
305 A 2S 10,000 10,000
o1 tha2S 10,000 10,000
O 43 S(23HI8) 10,000
401 A& HIL20HY| 1,748,000 1,669,210 78,70
< 25,000
2 1,723,000
01 Alt 1,737,809 1,658,608 79,201
O 2Nzl A 506,243
O 2 ¥ SHEZZ HEIA 808,566
O 70| 31D AIZHEZBA 50,000
O FOIBO{0IA 78,000
-A2 HAIOIS OtAE FY D] A 30,000
-4 EADIS OTAIE SRIAY 20,000
-M2 HEOIS 0IAR HMRI|AY 28,000
O Xiejsiotateit] 9,000
25 FS0I2 22 FUIAY 10,000
-2S 4Bl 28 2T BHIAY 10,000
-2E 4TR| YV AT FBZSAY 20,000
“2E MBS AR EXITA 20,000
SOINESST SHRY SFMLBA 20,000
-0IA BCH2I =3 ZHIAKY 5,000
-4 23012, 02 DY) 10,000
O A% QX012 Z2tE &X BAHE XY
Qats F0IF0{0IA) 25,000
= 25,000
03 Al CH| 10, 191 10,602 A4
O 2Nzl A
506,243, 0002+0.63/100 3,757
O 2 ¥ S0HEEZ HEIAY
808,566, 00021+0. 72/100 6,434
NSE HEAES(0E) JUHEEZ 300,000 420,000 A 120,000
401 A8 2 20HY| 300,000 420,000 120,000
o1 Alt 300,000 420,000 A120,000
O NSH HAALS(DY) HEEAS 300,000
THH 918 2 2422 (X)) 250,000 750,000 500,000
401 A8 2 2 CH| 250,000 750,000 500,000
01 Alt 250,000 750,000 500,000
O WaHAERY 242 250,000
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M E2UE
B YR CReA I
gel: E2RX 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2F=z FIIE 08 SA 1,750,000 500,000 1,250,000
401 Al HIZL 201 1,750,000 500,000 1,250,000
01 Al&HI 1,743,722 496,425 1,247,297
O =1 Ol SA 1,743,722
03 AIZSTHYI 6,278 3,575 2,703
O FIIF 0IFBA
1,743,722,000& * 0.36/100 6,278
Z2d 21054 AEIHEAY 300,000 40,000 260,000
401 AIEHIZ R 0HYI 300,000 40,000 260,000
01 Al&HI 297,855 40,000 257,855
O 848 Z&E10sd AEIHE ALY 297,855
03 Al 2CHYI 2,145 0 2,145
O & ZE105d AEINEALS
297,855,000& +0.72/100 2,145
CZ2 MHSFAL=BHFHANR(7.8-7.19 SIIH) 855,735 564,025 291,710
= 427,867
= 213,935
o 213,933
401 AIEHIX SO 865,735 564,025 201,710
= 427,867
S 213,935
= 213,933
01 Al&H| 865,735 564,025 291,710
O ZE24sd ol S2AH 400,306
= 200,153
< 100,077
[Ea 100,076
O ZZ195d Mol =S-2AH 94,836
= 47,418
< 23,709
[Ea 23,709
O ZEASH (272 =7 Ar 78,574
= 39,287
== 19,644
[Ea 19,643
O sSZ36E4 MHol=S7AH 81,807
= 40,903
== 20,452
o 20,452
O clE201sd THHS2AIS 107,141
= 53,571
== 26,785
o 26,785
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A E2WEN
Hm: YRE C2EA TN
@2l S22 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O sZ3B=4 MHol=7A 93,071
= 46,535
== 23,268
[Ea 23,268
SAIAEAIE RR2c| E2dst 1,666,000 2,019,000 A353,000
= 31,000
o 1,635,000
SAIAEAIE 72| A 1,666,000 2,019,000 /353,000
== 31,000
o 1,635,000
CAAEAIE FR22IAS 1,624,000 2,019,000 395,000
< 10,000
= 1,614,000
201 er2 3| 59,000 39,000 20,000
01 At2t2ltl 9,000 9,000 0
O ZAIAEAIE s8] A2l 9,000
02 S3=4gl 50,000 30,000 20,000
O ZAIHEANE s32=
4,166,660« 1291 2 50,000
305 e =S 5,000 5,000
01 tHat= S 5,000 5,000
O a2 S(asHIs) 5,000
401 AIEHIZL =20 1,560,000 1,975,000 A415,000
= 10,000
= 1,550,000
01 Al&H| 1,550,295 1,965,999 A415,704
O ZAAZAIE FA22A 745,304
O ZAHEEZ THEHALY 794,991
O 288 ZAHEEZ o1& |A22AY
(& XY= F=0IE00)A) 10,000
< 10,000
03 AlZ = THHI 9,705 9,001 704
O ZAA=AIE FR22A
745,304,000& +0.63/100 4,6%6
O SAHEEZ THEHALY
794,991,0002 +0.63/100 5,009
SE_HE%%HI% SS70 OPIENA (S22 (D EA 42,000 0 42,000
=S 21,000
s 21,000
401 Al HIZ R 0HbI 42,000 0 42,000
== 21,000
[Ea 21,000
01 Al&H| 42,000 0 42,000
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2A:

C2WSH

M TAIAEAIE =A2c 2dst
=Rl TAIHEAE RX2e 58 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O BASSHE 2270f 0BIgNa(S=
) (HEAY) 42,0002 *1,0000H 42,000
= 21,000
Ea 21,000
Hsus AMblA e 21,460,631 21,548,240 A\87,609
= 185,000
[ 1,876,000
Jl 192,862
< 1,676,730
[Ea 17,530,039
Hsus sS4 € N2 21,460,631 21,098,466 362,165
= 185,000
[ 1,876,000
Jl 192,862
[ 1,676,730
T 17,530,039
nSIM 22| 407,404 289,768 117,636
101 @124H| 7,29 13,728 26,429
M ORIMZZ2NSE S 7,29 13,728 26,429
O AlUHA =82 E 2 Ss2HUHRE
eIfY 81,089x2H + 15 +30H A 7,29
201 er23| 52,260 73,688 N21,428
01 AtR2te|HI 24,460 22,088 2,372
O HEuWE =T =l 2 10,000
O nS(0t2, 344, gAl) e @8 |X
2t/ 8,000
O usS=t sgH2d o5 & AN=84 2
=l 300,000 64 1,800
O WSt =Y2d o5 & A8 o
SEHI(ME 2 oF2h)
9,000 x6& *502 2,700
O A3 oS = (HAXSHR, 1S
SH0ISHS, HWEns=2USE) Xa
70,0002 7 H*43] 1,960
2 35244l 27,800 51,600 A\23,800
O Xl (2Y) 1,800
O HARSHBAIARI(BIS) KX 2 20,000
O Oi=sHA gsdal & 388 &g
500,000& * 122 6,000
202 04| 2,940 2,352 588
01 =LHO LI 2,940 2,352 588
O nS3dXE FE0YI
70,0002 x5H x 128 %70/100 2,940
307 elzto| & 3,000 0 3,000
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2A: E2nESh
=

X U= uE AHIA A
el UEsus |54 & AE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 3,000 0 3,000
O 224 wSotl & ISAHHQ SA
2= At 3,000
308 AXIHSOIA 141,906 0 141,905
183 S| 2SO U ZB & HAEAIE 141,905 0 141,905
O HAISEIZ ALY 2 AFEHI 1,743
O HAIE Ol88t =28 82 140,162
401 Al HIZL 201 200,000 200,000
01 Al&H| 200,000 200,000
O AlUA =88 AZRdH| 200,000
AMUHA BXed DSE XA 30,000 30,000
207 ARl 30,000 30,000
NEEEET 30,000 30,000
O AUIHIA Hl&ole s 2280 24 &
HAEH WS A 30,000
HASAMUHEXR(EX) 2,469,530 2,489,530 220,000
& 1,244,765
Ea 1,224,765
307 elztol & 2,469,530 2,489,530 /20,000
= 1,244,765
= 1,224,765
09 2s-gAE2LS 2,469,530 2,489,530 220,000
O A MEXNE= 2,469,530
= 1,244,765
Ea 1,224,765
HA SN E K2 (KEAI) 20,000 20,000 0
308 AHRIEHMSOIE 20,000 20,000
07 HAHH 2R 52 20,000 20,000
O AUt A 24243 (S 9802A) 20,000
HALd EABAF(EX) 2,333,000 2,174,000 159,000
= 700,000
= 1,633,000
307 glztol & 2,333,000 2,174,000 159,000
= 700,000
o 1,633,000
B 2=gHEXS 2,333,000 2,174,000 159,000
O 8lcd =24 2,333,000
[ 700,000
o 1,633,000
R Hds 2ABAZ(HA) 1,850,000 2,000,000 150,000
307 212+01& 1,850,000 1,850,000 0
09 2FAHEXS 1,850,000 1,850,000 0
O 2= Hest 424 1,850,000
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SN E2DED
M HsSuS MUlA e
el Uisus 54 2 A& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 26,460
s 61,740
307 lztol & 88,200 44,400 43,800
= 26,460
= 61,740
09 2+ AHAELS 88,200 44,400 43,800
O BAl IEZ2H === K& 88,200
= 26,460
o 61,740
Al JtIESAE XIFALE 9,768 9,768 0
S 2,930
[Ea 6,838
307 212+01& 9,768 9,768 0
& 2,930
= 6,838
09 2+AE2LS 9,768 9,768 0
AAL JIEZ2 M Stz X2 9,768
= 2,930
[Ea 6,838
SEHDIE EXZAHY 119,325 127,600 N8,275
s 36,575
s 82,750
307 @I2t01 & 50,800 70,800 220,000
02 LB HANHEE 10,000 30,000 220,000
O OAXNSXEDIE HASE At 10,000
09 2+EAE2LS 40,800 40,800 0
O OHXNSIEDIE 2128 X2 A 40,800
402 212t X+=01 ™ 68,525 56,800 1,725
= 36,575
[Ea 31,950
02 QI XHE AL E R (01X THE) 68,525 56,800 1,725
O GHXSXEDIE HHIA 68,525
s 36,575
s 31,950
K-IHA Otel Xl X2 AHY 64,000 20,400 43,600
= 32,000
= 32,000
308 AHXIEMSOIH 64,000 20,400 43,600
= 32,000
o 32,000
18 SIS0t HAS A 64,000 20,400 43,600
O €EWSIHE AH Otel Xl XA 64,000
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2A: E2nsH
M H=nE MHIA A
el sus =4 & A (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 32,000
= 32,000
SLUMRIIEX(SI2, Al 0ISHA) 7,253,000 9,903,000 2,650,000
307 212+01™ 7,253,000 9,903,000 2,650,000
09 2+HEXZ 7,253,000 9,903,000 2,650,000
O 29Xl SIEZZ2(SZ, Al 0ISHA) 7,253,000
nsae| A 6,700,982 8,889,142 A2,188,160
= 1,980
& 802,823
= 5,896,179
nSA&E=s 22l & I8t x4 6,569,039 8,759, 166 A2,190,127
= 1,980
& 802,823
i 5,764,236
HASZE EHYE ZHAIE &X 6,000 9,300 A3,300
& 6,000
401 A& HIZ20HYI 6,000 9,300 A3,300
& 6,000
01 Al&HI 6,000 9,300 A3,300
O BASZE B ZEAIL 83
2,000,000& *37H 2= 6,000
& 6,000
mE=jel FSUNF~FSa]l 1,439,377 1,084,654 34,723
= 15,000
= 1,424,377
101 eI24t| 60,206 60,216 A10
M IIZtHZ22SE 60,206 60,216 A10
O |2 sF & 23,644
O &< wEotd =20l 36,562
e = 13,179
=35 13,179
-4 8,787
-1l =| 1,417
201 2| 295,055 226,230 68,825
01 At 22|l 151,805 141,180 10,625
O ==X SR II=t|
400,000 7 2,800
O WEZe|g HRFXEIA SSHI(ME L
Orzh) 9,000& *7H+35 2,205
O SIS L HI|FxtH Az
100, 000& *20CH 2,000
O =&xt & =2t &= S8
50,0003 x20 01 2~ *43| 4,000
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MEE
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794,680

Ofl &F2H

4,700
73,900
3,500
7,400
20,000
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14,000
6,000
3,000

4,200
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SN E2DED
. ws2c| e
el WSAlEsE 22l # gt &4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O =X SZHHA (fSetd) 397,140
= 397,140
03 AlE220HHI 5,005 0 5,005
O FXg 2HZHEAIE Al R0
(24s=0t2)
297,855,000& *0.72/100 2,145
O FxE BAMEANLY ALRUHI(SIZ
4) 397, 140,000& +0.72/100 2,860
= 2,860
= WSASHOI & 25 wH 100,000 400,000 A.300,000
= 30,000
o 70,000
401 AlZHIZ S 0HbI 100,000 400,000 300,000
= 30,000
o 70,000
01 A28l 100,000 397,120 A297,120
O == USHSHOI & EF WA 100,000
== 30,000
o 70,000
T2 Okt SZI| XM 26,670 50,000 23,330
S 8,000
= 18,670
401 Al HIZ 2018 26,670 50,000 23,330
= 8,000
[Ea 18,670
01 AlZH| 26,670 50,000 A23,330
O EH2X OFAEEI] EXAMY 26,670
= 8,000
o 18,670
EBAZSSHE S370H OIHEXH(HEAY) 183,400 77,400 106,000
[ 171,800
T 11,600
401 Al HIZL 201 183,400 77,400 106,000
= 171,800
= 11,600
01 Al&H| 183,400 77,400 106,000
O BagZoX 21,500
= 21,500
O ustlas #EF 50,000
= 50,000
O xrdd=elt 38,700
< 38,700
O == 23,200
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